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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udienef aduem s1u= Uy U= W A sifvera: ford |

Candidates must write first his / her Roll No. on the question paper
compulsorily.

2) et Uy A e g |

All the questions are compulsory.
3) U T R IW G TE SW-Yieaent § @ ford |

Write the answer to each question in the given answer-book only.
4) = uyAi o ewafves @oe §, 39 At & W v Wy g o)

For questions having more than one part, the answers to those parts
are to be written together in continuity.

T | ey
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S)

6)

7)

8)

9

2
U o &< 9 SISt ®uTaR § Rt wehr i Jfe / stvar / forienwm gin R =i W <k
9 1 & HE A

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

R T G 3 TH T
A 1-10 1
E| 11-15 2
| 16 - 25 3
3 26 -30 6
Part Q. Nos. Marks per question
A 1-10 1
B 11-15 2
C 16 -25 3
D 26 -30 6
Uy shHTeh 27 9 29 | saies farehea g

There are internal choices in Question Nos. 27 and 29.

U IT-YFereht o ISt o g1 3R [TRAT| ATe I T el HET &, al IW-Yiereht o
T ISt TR L 3R 3¢ ot eigAl @ hieaht 34 W T & or@ 3|

Write on both sides of the pages of your answer-book. If any rough work is
to be done, do it on last pages of the answer-book and cross with slant lines
and write ‘Rough Work’ on them.

9 SHATR 26 T AW ATH YW O SAT130)

Draw the graph of Question No.26 on graph paper.
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HET - A

PART - A

1) g5 am i @ 62 = ot 3@ il [1]

Find the square of 62 by Dwandwa yoga method.

2) eERMNT: (x+]) (x+2) = (x-5) (x-6) [1]
Solve : (x+1) (x+2) = (x-5) (x—6)

3) 68 aut 119 w1 ugww uads A i) [1]

Find the HCF of 68 and 119.

4) tan*60° + 3cos? 30° @1 9 A Hf| [1]

Find the value of tan?60° + 3cos? 30°

5) a2 sin2A = cos (A—18°) &, a@t A @1 U FIa shifsTu) [1]

If sin2 A = cos (A—18°), then find the value of A.

6) THAA H TewHA ATt I & dg ol (g uel ferRem) [1]

Write the locus of the centre of rolling circle in a plane.
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7)

8)

9

10)

4
gfe AABC~ ADEF 2 5=t AB = 1.6 @it @ik DE = 2.4 @it gt @t AABC it ADEF &

GETREI <hT 3TUTA A I [1]

If AABC~ ADEF in which AB = 1.6cm and DE = 2.4cm. Find the ratio of the
areas of AABC and ADEF.

3t gt A 3R B 9IRSt i Ueh 79 @cAd @ 98 A1 @ 6 A gt 7= fraa it wifRresan % 2B
&% Siia= < TTfesan F hifu) [1]

Two players A and B plays a chess match. It is given that probability of winning

the match by A is % . Find the probability of winning the match by B.

Ife Uk HR w1 ferrEn yem ferentdiet & foru 20 ®. aen s s ufa feft ki ford 11 w. 2@
15 fertht e o ford Tt ferran wma iy [1]

If fare of a car for first kilometer is X 20 and for after 1 kilometeris X 11, then find
the total fare for 15 kilometers.

Teh U Y © 75 Hiew Fi 393 W 3z T 2| ek gt @ 9w o wme geea 60° 2 @ art
TS T | [1]

A kite is flying at a height of 75 metres from the level of ground attached to a string
inclined at 60° to the horizontal. Find the length of the string.
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AT - o

PART - B

11) SUEH IR0 gR 42 1 TA%A J1d i) [2]

Find the cube of 42 by using Upsutra Anurupyena.

12) fog Sife fr 7[5 w srafir w21 2]

Prove that 7./5 is an irrational number.

13) w3 <t B 9 |t oik Bra wve swraRton 70° 2 37 o @7 e wue 6 e T Fifu)

o2
== . 2]

Radius of a circle is 9cm and the angle of the sector is 70°. Find the area of the

22
minor sector of the circle. (” = 7}

14) T S H 313 21 |t AU TR 5k TS SR 924 =it wedt B S i Fremn 7 i)
2]

The height of a cylinder is 21cm and its curved surface area is 924cm?. Find the
radius of cylinder.
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6
15) AaB&usmhi gl 125 fit. 2 aen 3oek e 8 amamm e firem €1 afe s @ 50 Tt
Tt wet i THE T | w4 R fraet o ur 9 g ag B g m 2 gue 30 e W ugw it
2| Af o= fom ol a6 wwo ferger S ggan 21 vem aaEm e 1 fiee
Tt =rmamama e 2 fime e AR dE ...... 8 Tie 3¢t wR gw fora & et T
& o iR afe g |t s et fi e w2 [2]

The distance between A and B is 125 km and there are Eight(8) traffic signals in
between A and B. If a car by 50 km/h speed reaches point B crossing all green
signals in 2 hours and 30 minutes but on other days due to heavy traffic it happens
to stop as follows. First Traffic Signal - 1 minute, Second Traffic Signal - 2 minutes
and upto Eight(8th) signal - 8 minutes. Calculate the total time taken by that car if it
follows the total traffic signals.

qm -9
PART - C

16) 7o v fift e = 1, 2 g e 3]

: 1 2 6 L
Solve the equation —+—— =;Where x # 1, 2 by factorisation method.

17) 23R 101 % wem 5 ¥ fawfom (wra) 2 arelt aeft wreha St st 9 %t 7 il [3]

Find the sum of all the natural numbers divisible by 5 between 2 and 101.

18) fereit arqut Himm & aneam & 120 Hiex R e fomg & i 3 frer @&t s=mm & 30° 31 7w
FifTe foh HiAR ot feraan Sen smmen S e 3wt wormm W sHeRt 391EA Fiun 60° @ SR ? [3)

From a point on the ground which is 120m away from the foot of the unfinished
tower, the angle of elevation of the top of the tower is found to be 30°. Find how

much height of tower have to increased so that its angle of elevation at same point
become 60°?

S—09—Mathematics 5005



7
19) fug fifir i =iz @ wreu Bysi & Serwet wam 1, @ i Brys gatmaw 2a 3 [3]

Prove that if area of two similar triangles are equal, then they are congruent.

20) mhfa# AOB g @ &am@ g aen C,D 3ii E sieiga w @ &g dF fag § LACD + ZBED
Wﬂﬁiﬂﬁﬁﬁlﬁ? D [3]
C

In fig. AOB is the diameter of a circle and C,D and E are three points situated on
semi circle. Find the value of ZACD + ZBED.

D

21) w& O g aren ga 9gHst ABCD i 9t ySiiaft st o7 T9 et @ afg AB @t wwt farg
3:1 vt ® fawfm s aun AB = 12 @i 2 &t g <t B e hifse st i OA = 15wt 81

3]
A circle with centre ‘O’ touches all the four sides of a quadrilateral. ABCD internally

in such a way that it divides AB in 3:1 and AB = 12cm then find the radius of circle
where OA =15 cm.
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22)

23)

24)

25)

8
5 eft T Aot wHag s o ewia g i T i) [3]

Construct an incircle of an equilateral triangle with side 5 cm.

e 10cm et Tk 91 & 3t=aa Wie S TR JTet O o SIS [T Shifeu| [3]

Find the area of the square inscribed in a circle of radius 10cm.

6 A ST T TH Ml 12 A A o JAATRR Jd4 ° Red arft @ St St @ Sd- | urt
ToRaT SR =g S ? [3]

A sphere of 6cm diameter is dropped into cylindrical vessel of diameter 12cm.
Find the rise in water in the vessel.

TR |SHEEEvmmEsm 1,2,3, 4, ... , 15 3ifra 21 9t § | FefE5® Uh we
Frerten wrar 21wt 7 ke W [3]

) Uk AT WEA 2

i) 2@ fawfcma an el g 2

A bag contains 15 cards. The numbers 1,2,3,4,........ ,15 are printed on them. A
card 1s at random drawn from the bag. Find the probability that the number on the
card is

1)  aprime number

i) anumber is divisible by 2
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PART - D
26) = Raew wrfiero gm = s fafy grn ge Rl [6]
3x—-5y=-1
2x—y=-3

31d: TEh! Tl 9 a Y (x + ) = AT A 1 UH 7 i)

Solve the following pair of linear equation by graphical method.
3x—-5y=-1
2x=y=-3

Thus find the value of A in the relation (x + y)* = A.

27) fag i) 6]

l+secA  sin’A
secA 1—cosA

2 -3
ii) cos™9 + — sin” 6 =1+sinOcosH .
1-tan® sin6 —cosO
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10

frg il [6]
) sin 0 N 1 +.cos 0 9 cosech
(1+cosH) sin®

sin® —2sin’ 0 B

il =tan0
1) 2cos’ 0 —cosH
Prove that :
) l+secA sin’A
1 =
secA 1—cosA
2 -3
cos 0 + — sin” 0 =1+sin0cosO
1-tan® sin6—cos6
OR
Prove that :
) sin® N 1+.c0s9 5 cosech
(1+cos0) sin®

sin® —2sin’ 0
=tan0

2¢cos’ 0 —cosH

28) fereh wmae # = fag P(2, —1), Q(3, 4), R(-2, 3) 3t S(-3, -2) 8 &t fag il fon
PQRS =t 7@ ws e 2 [6]

If there are four points P(2, —1), Q(3, 4), R(-2, 3) and S(-3, —2) in a plane, then
prove that PQRS is not a square but a rhombus.
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29) fug At 6 =i Tqes & ToE o g TRk 3t 39 i 180° gt 2l

11

YA

6]

firg ife for af wes g <t wat e @ ws S S < A 3@ e gra & et Y @
TAIT 7T <HI0T SHAIT: IE e GRT UehITR JAEUei | s <hivT o s{IeR g 21

6]

Prove that the opposite angles of cyclic quadrilateral are supplementary or sum is

180°.

OR

Prove that if a chord is drawn from a point of contact of the tangent of the circle
then angle made by this chord with the tangent are equal to the respective alternate
angles made by segments with this chord.

30) T SRERAT FeA & WL q TEAH [T i)

ol 10-25 25-40 40-55 | 55-70|..70-85 85-100
A 6 20 44 26 3 1
Find the median and mode of the following frequency distribution.
Class | 10-25 25-40 40-55 |55-70 | 70-85 85-100
A 6 20 44 26 3 1
10203020
S—09-Mathematics 5005

[6]






